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      For any measurable spaces (X, \mathcal{M}, \mu), (Y, 
\mathcal{N}, \nu), if a real valued function f is \mathcal{M} 
\otimes \mathcal{N} measurable, then for any x, the 
function g(y) = f(x,y) is measurable, since for any Borel set 
B, g^{-1}(B) = \{ y : g(y) \in B \} = \{ y : f(x,y) \in B\}  			                        
	 	 	 	 	 	 	 	 	 	 	 	 		   = (\{ (x,y) : f(x,y) \in B\} )_x

and we showed in class that the x section of any 
measurable set is measurable.
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Assume A is it measurable
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By uniqueness theorem from lectureit suffices to show LHS and RHS
coincide on the algebra of disjoint
unions of rectangles and the measure

on the LHS is
strongly

o
finite

Since each mi is o finite Effy
sit Mileijk

to

king and YEj xi
WLOG jt E'j are increasing so forally
µM2 M3 E'j E E3j M2 E'j Éj us ES

MIEgUZLEY usEJAN
and E'j E E Xxxxx This shows
the LHS is strongly

o finite

Finally if R R xR is a finitedisjunion ofrectangles
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